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Pharmacology

Subject:
First Exam -

Previous Year Questions

1. If 87.5% of a drug is ellmmated via first order kinetics in 15 hours, then
the tin of this drug is expected to be: '
,A Shours .
B. 10 hours. S
- win
C. 15 hours -
§o : HTE SR TP & e R A .
D. 30 hours o b
. b PRCT e i L IRl i S
E. Greater than 30 ye-ars.
2. A phﬁrmacological response might be delavég, rec_luced or blocked by all
of the following except: i
A, Admg that does not go into solution.
;L\‘e-

B. A drug that does not get into its fof action.

C. Abnormal target receptors.

D.  Lack of absorption at site of administration.

_E. Interference with drug elimination.
v ;
3. Aspirin is a weak organic acid with a pKa of 3.5, what percenfage of a
- given dose wﬂﬂze@nmn.lzgd_a_t,&mach pH 0f2.5? e
A 1%
. o i T S ‘ I;‘) D\\ i 3
B. 10% Jo. B ® R g {,\3
. . Bak A
. C. 50% a i . 3 \‘J\L l-“‘]

D. 90% | o (A
E. 99%. CAR AT



mog 0 W P

o

=1

m g O W >

o 0w P

Drugs that are highly bound (greater than 90%) to plg_sr__nit__g_r_qggigg are

likely to:(vA

* Be associated with large volume of distribution. X

Have very short half-life (t12)/

Be associated with a high therapeutic index.

i Have long duration of actlon >

‘Be charactenzed by none of the above

Drugs assoclated with low, potengz are characterlzed by:

. W

Big thcrgpcuttc doseq b

High thi;;'ap’eﬁﬁc cfﬁca&y.'?‘;' . il . ;
Low therapeutic index.

High bioavai.lability.

All of the above.

The oral route of drug administration tends to be asso_ciated with all of

the following EXCEPT:

qur compliance.

Relative safety.

Rapid response. Y.

Convenience/

Incompléte absorption.

First-pass hepatic effect may occur whe;n- a drug is given.
Intramuscularly.

Sublingually. *

Subcutaneously.

Rectally.



E. By none of the above.
8. Which of the following is the expected loading dose (Do) of 2 drug having

a Vd value of 150 liters, if the desired plasma concentration is 15Smg/L?

O 0 W F

75 mg
"y Ehad TS
150mg. & SO LN -
235%
5a.
Lyt PRT T 795 LA T S § A SR S 1 AL LTI L FTE

E. The Dy cannot be estimated.
9. The therapeutic index of a drug reflects its:

' L s e e FeoaE Ba )
A. Relative safety. ' 5, _

s AT A R U TR R P I S LR PR I o [
B. Duration of action.
D. Onset effects.
E. Potency.

10. Which of the following is TRUE about half-life of elimination (tiz2) of
various drugs?
The value of tip depends on rate of drug absorption.

An increase in K, is associated with an increase in tin

=

A

B

C. .« The fm value is required for dose ::_Egi_mqtign
D Drugs gssﬁciated \IN,ith short t,, are characterizcd by low systemic clearance.
" _

. None of the above. ] @ s e e wn v

11.  Biotransformation (metabolism) _usually‘ results in a product that is more
likely to:

A. Be highly Jipophilic.

B. Have very extensive tissue distribution.

B4 Produce sever side effects.
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‘The desired steady state concentration (Css). -

Be inactive pharmacologically.

[nteract with target receptors.

Estimation of the maiutengncé.dose_ (D) of various drugs depends on all
of fhe following EXCE?T . -

The rate of drug absorption (Tmax)-

The dose interval (T).

The drug bicavailability (F).

“The s'yst_elﬂ ic hclcafahce of the drug (CL).

* . First order elimination process: R | >

Can be properly described in terms of t) n

" Applies to most drugs in clinical use.

Can be applied to rate of drug metabolism”®
Proceeds at rates dependent on substrate concentration.

Is characterized by all the above.

“Which of the following statemenis about drug absorption from. GIT is |

CORRECT:

The stomach is the lmajorl sitt;:'of d}ug absorptionl.

ﬁa rate of gastric emptying can influence the rate of drug absorption. .
Dnigs are not absorbedlfrom the colon.

Active transport is the major mechanism of drug absorption in the GIT.
All of the above. |

The duration of drug action depends on al! of the following EXCEPT:
The rate of dr;,lg metabolism. |

The systemic clearance of the drug.
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The administered dose of the drug.

D. The route of drug administration.
E. The potency of the drug.
' 16. Which of the following stat_emetits about drug-receptor interactions is
TRUE? |
- ~'A. " An agonist drug interacts with its target receptors and pro&uces a biological
response. | o _ | | |
. e Wy b bl spt v bR o,
. B. A reversiblc‘_: antagqnist shifts the dose response curve to the right without
affectmg the maximal resp?nse
c. Drug receptor mtcracitlc:nlls a specific process. -
gt
D. Pamal agomsts are drugs that have affinity for receptors with moderate
efficacy.
E. All of the above.
17.  Variation in pharmacological responses to drugs among individuals can
be attributed to:
A. Drug-drug interactions.
B.  Sex.
"C. Diet.
D. Age.
- B, - Allofthe a-bqvg.-‘-_' e DG R t g s, b dog T g
18. Two drug A and B produce the same r-e.sponse via different mechanisms
of action. If drlig A’'in a dose of 30 mg produces the same magnitude of
effect as drug B in a dose of 1.5 mg, it can be éoﬁcluded that:
A. Both drugs are similar in their maximal efficacy.
B.  The two drugs have identical therapeutic indices.
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C. Drug A is associated with higher affinity to its target receptors compared to
D. Drug A is more potent than drug B. |
E. None of the above is correct.
i9. Atropine is:
A Muscarinic agonist.

~_ Contra indicated in bronchial asthma.

A.

B._

E.  Commonlv included in the pre-anesthetic mdcaion, 3
D, Likely to be complicated with intestinal colic.

E.

. Ct?aracterized by all the above.
’ 20'. . Which of the following is a correct match between a drug and its adverSe
effects?

Hyoscine (a muscarinic antagonist)——-i---BradyéardiaQ

Propranolol (a beta adrenoceptor antagonist)------- tachycardia.

A.

B.

s Bethanechol (an acetylcholine like drug)------- glaucoma.

D. Salbutamol (a beta 3 adrenoceptor agqnist)—--—m—bronchospasm.'

E_. None of the above. -

21. | Epinephrine

A. fs r_cleésed from the adrenal medulla.

B.. Isindicated in the manage ment of anaphylactic shock.

C. Stimulates botﬁ alpha and beta adrenoceptors.

D. Is metabolized by COMT and MAO cnzyﬁe systems.

E. Is characterized by all of the; above.

22.  Which of the following is a correct match between a class of drugs and its
‘indication?

A. Beta 2 agonist------- bronchial asthma.



B. Alpha antagonist------- hyperthyroidism.
C. Muscarinic antagonist-=----- constipation.
D. Beta 2 antagonist---—--premature labour
E. All of the above.
23.  Which of the following is a correct match between a(drqg and its class?
A Pmpranolol—-'—'r-mn%elccnve alpha blocker.
B. Prazosm——;——--non—se lectweebeta agomst _
G Neostlgrl;l;lew--ﬂchollneste;'ase 1nli;b:tor. Lt L S
D. Isoprotcrenol (1soprenahne) ------- alpha agonist.
E. All oftheabove | N ‘. _ l _ E | -'_.
24. A 75 year old man suffering from urinary eetention ‘and’ hypertension is
best managed by:
A. Bethanechol.
B. Atropine.
C. Doxazosin.
D._ Propran_olol.
E. Succinyicholine.
25.  Beta2 adrenoceptors are abundant in:
A.  Bronchial tree.
- B: --.---__-;-Art,t_:_gi_es of s!@eietal muscles. - - - e B i P
c [ris of the eye. |
D. All of the above.
E A and B only.

Stimulation of the muscarinic receptors in general can lead to all of the

following EXCEPT:
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Neostigmine.

Miosis

Bradycardia.
Bronchodilatation.
Increased intestinal motility.
Inicreased salivation.

Paralysis of the circular musclés of the iris and cijliary muscles of the

(cycloplegia) is induced by: - '

Cért;acﬁol.l o - i

Norepinephrine. |

Atmpin.cl.

All of the above.

All of the following drugs can be used intravenously to induce general
anesthesia EXCEPT:

Lidocaine.

Thiopental.

Midazolam.

- Ketamine.

Propofol. -

Local anesthetics mediate their effects mainlf by blocking:

Pain receptors.

Neurotransmitter release.
Calcium channels.
Sodium channels.

Chloride channels.
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Which of the following statements about diazeparn is false?

it is indicated in the management of status epilepticus.

It is considered a benzodiazepine derivative. -

It is a sedative Ihypnoti_c agent.

Its pt;o!ong;d use can be complicated with.toleranc'c and dependence.
It '1s.'charactcrizcd‘with' a narrow therapeutic Iindcx._

Al of the following are produced by morphine elxcept:

Euphoria. ' F

Mydriasis_. O TR SIET PUNESGAN S SE PO s I_:-‘:-. ML T ot M

Vomiting: ' -

Constipation.

Sedation. |

Generalized tonic-clonic convulsions do not respond to:
Ethosuximide. |
Carbamazepine.

Phenytoin.

Valproic acid.

Phenobarbital.

All' of the following drugs-ca_n' be included in _the preanestheﬁc

medications EXCEPT:- - - o— 0 o o
Thiopental. |

Pethidine (derﬁcrol)

Diazepam.

Morphine.

Atropine.
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34. Barbiturates:

o Qo w »

With long duration of action can be exemplified by thiopental.
Are safer than benzodiazepines. B
Are not associated witﬁ tolerance‘.
Use can be complicated with great induction of liver enzyrﬁcs.
Are charactenzed by all the above

w

-

35.  All of the followmg centrally actlng drugs match their adverse effects

EXCEPT: '
A L-dbpa——-;-f-vomiéing.
B Phcnytoin—---—-giﬁgivai"ﬁy;;e;plasia: ? e
o Chlorpromazine ------- postural hypotension.
D Heroin -_---——resplratory center depression.
E Codeine------- convulsions.

36. TCA can be complicated by all of the following EXCEPT:
A Convulsions.

B Weight gain. |

C. Cardiac’ arrhythmias.
D Parkinson‘s like syndrome.
E Constlpatlon

37. All of the t‘ollowmg centrally acting drugs are likely to be comphcated

with tolerance and dependence EXCEPT:

A. Phenobarbital.

B. Pethidine.
D. Ethanol.
E. Diazepam.
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38.  Which of the following is true about drug acting on the CNS?

A. Drugs acting on CNS are poorly absorbed orally.

B. All drugs affecting-the CNS act as neurotransmitter agonists or antagonists. *

C. Al drugs acting on the CNS are metabolized in the brain before being
eliminated.

D-  Thé pharmacological” effécts are generally atiributed To ‘miodification's of
neuronal transmission in CNS. E. All of the ﬁbove. | |

39. All of “the fo.llov;'ing dr,:gs used in Parkinson's disease enhance
dopaminefgic syste‘rr; EXCE];"f: it

A. Amaﬂtadir-ie; | o =

B. Bromocriptine” -

c. Selegiline. :

D. };:!cnzlropinea:'

E. L-dopa. . d

40. Phenothiazines, as antipsychotics can be employed in the management of:

A.  Schizophrenia. L

B.’ Parkinson's disease}*

C. Sever anxiety states.

D.  All of the above.

--E. -~ AandConly. .
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